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dHdded, 2H,0' = H,0" +OH ™ 2 298 K
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2wl
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(1) 004736V
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Answer :

Q-31:|1Q-32: | Q-33: | Q-34: | Q-35: | Q-36: | Q-37: | Q-38: | Q-39: | Q-40:
1 2 4 3 2 4 3 3 4 3
Q-41: | Q-42: | Q-43: | Q-44: | Q-45: | Q-46: | Q-47: | Q-48: | Q-49: | Q-50:
4 4 1 3 1 2 3 3 3 1
Q-51: | Q-52: | Q-53: | Q-54: | Q-55: | Q-56: | Q-57: | Q-58: | Q-59: | Q-60:
1 2 1 1 2 2 3 2 2 4
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Q12is z 2is ddl sz vl B 5 Wl

|z] +z=3+i (stlli= /7 ) AL d |z|

=

Ol B,
o 2
o 3
o 2
o @

ROUGH WORK


Kakadiya
Rectangle


Question :63
(Rl % o @A B = [geud wllszel

x2 sinf — x (sind cosd + 1) + cosh =0
(0<h<45%, dioflw & cdll a<p 5.
C i

5[
n=({ 8
. 1

(1) 14 cosb 1=sinf

2R 8,

1
(2 T—cost 1+sind

1 1
.
@) 1+ cosh 1—sinb

1 1
+
@) T—coss = 1+sin®

ROUGH WORK


Kakadiya
Rectangle


Question :64

4zl % 3 %3 sl EG1sL A 2 B Al e4d w4l
6. od det (ABAT)=8 ci2l det (AB~1)=8 «l

det (BA —1 BT) 21013 8.
@ 1
@ 3
(3) 16
@

ROUGH WORK


Kakadiya
Rectangle


Question :65

a—b—-c 2a 2a
& 2b b—c—a 2b
2c 2c c—a-b
—(a+b+c) (x+a+b+c)2 x=0ud
a+b+c20, dl x HRIeR 8.
(1) abc

(2) 2a+b+c)
(3) —-(a+b+c)
(4 -2a+b+c)

ROUGH WORK


Kakadiya
Rectangle


Question :66
sedlz WeLk 24 AL YR €1 o4 flk) @3 -l

Al i =al {1, 2, 3, ..., 20} =l

(1,2 3, .., 20} «it =it @A £ -l diva
5.

(1) 5!x6!

@) 5%x15

(3) 6> x(15)!
4) (15)!x#6!

ROUGH WORK


Kakadiya
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Question :67

A x e R W2, Q131 5
(x+10)* + (x-10)*

- a2
=ag+ax+a, X2 +.. +agx™ 2 “RER

(1)
(2)
(3)
(4)

12.75
12.50
12.25
12.00

8.

ROUGH WORK


Kakadiya
Rectangle


Question :68

od iy Huidz Aell (AP) A 199 ug g

éld, dl del (49 3 4§ : (29 Y ug) =
8.

1 4:1

2 1:3

@ 2:1

@ 3:1

ROUGH WORK


Kakadiya
Rectangle


Question :69

Wiy S =1+q+q%+...+q" A

2 n
q+1] [q+1] +[q+l] .
T, =14 —— | =— | +...4 —
; [ L 4} Pt

q # qardfas dva ® dul g=1 o
101C, + 101Gy Sy +..+ 101C 0 S p = Tygo
Al a YRR

(1) 202

(2) 200

(3} 2100

@ 2%

ROUGH WORK


Kakadiya
Rectangle


Question :70

fii X cot(4x) 5
0 sin®x cot®(2x) RR_9.

1 2
2 0
3 1
4 4

ROUGH WORK


Kakadiya
Rectangle


Question :71

Al s K (x 5) @isll airdfEs Cigeildl e 8 %

sl [A8n filx)=sin|x| - |x|+2 (x—m)

cos|x| = Esadly 2. dl 29 K erier
21

1 {0

@ A=

3 {07

4) & Ceuellare)

ROUGH WORK


Kakadiya
Rectangle


Question 72
d—=x

«.Ja +x2 -Jh2+{d x} i

sedl a, b 2 d Y clds 20l B, dl -

(1) f&ix - «ud EBEys.

(2) f2x-dad BEa w2l w ued
(EiE v @l

(3) f@ix-uedBaus.

4) f 2x - dad By -l

aRE f(x)=——

ROUGH WORK


Kakadiya
Rectangle


Question : 73

13L5 x, i A U Aelldls vl dilm, n e

m_n

3 El " y
yelsl 8, Fgust [szm)[“_yzn} Al et
(531 Y1y
q
o =
2 1
m+n
6mn
|
@ 3

ROUGH WORK


Kakadiya
Rectangle


Question :74

o x+1
af ——dr=f(NZT+C gpi C %)

Wsedrrll wanls 8, dl flx) “uer

-

0.

(1) %{I+1}
) %[x-r:}
(3) %[x-ﬂl-}

(4) %{I +4)

ROUGH WORK


Kakadiya
Rectangle


Question : 75

/4
ds(aa E

o _
(1) EE‘““

o
@) EE‘*‘“‘ (32

® 0

-1
@ =" [m

/6 sin2x (tan® x+cot’ x)

b B4R T

ROUGH WORK


Kakadiya
Rectangle


Question : 76

wee y=x2 +1, (61 (2, 5) 2ol el 2uals
2L MLl IRL MM URSHE BUYT M Stz

(2l 2is3ui) TR
37
(1) o1
8
(2 3
187
(3) g
14
(4) 3

ROUGH WORK


Kakadiya
Rectangle


Question :77

[Rsa wllsza 1—""={x-yiz,-{l Gia s

y(1)=1 €4 4R By,
o 1-x+y g
1) ~loge e
2-y| -
@ loges— ~2¥y-1)
lo A=t =x=
@) loBe— =¥V
-k’ﬂe M =-"-"|'_l)'-2
@ -

ROUGH WORK


Kakadiya
Rectangle


Question : 78

sd 518 s Hdidrelly Addslel ABDC i
A, B 2 C AL 4l 2453 (1, 2), (3, 4) =i
(2,5) €l oll, [Es6l AD o allszel 8.
(1) 5x+3y—-11=0

(2) S5x-3y+1=0

(3) 3x-5y+7=0

(4) 3x+5y-13=0

ROUGH WORK


Kakadiya
Rectangle


Question : 79

odell MEllAt 2 9L x4 W2 €, g GlomlCig
LN DU € el 516 i GuetdeL Al
dotd (iRl 5 8 8, ed @il Guaduddl Gl
el iz el 2lleL gl dend ez €l
Al Wsl 54 (G4 crtt w2 2udg 87

1)
)
3)
)

(442, 242)

(42, 243)
(443, 243)
(443, 242)

ROUGH WORK


Kakadiya
Rectangle


Question :80

Gorligall 2b iR 2uddl y-21 Yzl 215
Cigaioll Wiz udl d2u x-248 W 4a dend-l

=,

20ell 1Al Al sgel [Bi5ua 8.
(1) =5 2w

(2) s Guamd

3) s wieaH

—

(4) =5 2ildaan

ROUGH WORK


Kakadiya
Rectangle


Question :81

oo W5 [QRUGE wread P +4(x—ad) =0 i
RiRLChg o €l e ol o [RUGE2A 21
LA, Wi Y-l SR €l B Bl
A5 250 2, DisH 1, ol ‘a’ AL S8 @is ud
8.

1) 5(21/3)

2) (103

3) 5

) 55

— — — —

ROUGH WORK


Kakadiya
Rectangle


Question :82

s 2is wilieaul videisa vl doud 5 qul
el Al 22 2z 13 €1, ol 2 2ifaas
Gesgal 8.

ROUGH WORK


Kakadiya
Rectangle


Question :83

x=3_y+l_z-6

s

“ Tl 1 3

-x+5=y~2=2—3
4 -6 4

R =il xy - Hicel udlhor 4
1] Z-4-7)

@ @47

3 (2 -47

@ (-247

=1

e

= “

(6 R 21 8% 8. dl

8.

ROUGH WORK


Kakadiya
Rectangle


Question :84

[Sigll (3, 4,2) =t (7, 0, 6) Hizll wauz 2t q
HHA 20 =5y =15 A GOl €l Al {4 W
ot [55 (2, o, B) 299 €1, dl 20— 3B “RIeR
U

1) 17

2) 12

3) 5

4) 7

ROUGH WORK


Kakadiya
Rectangle


Question :85

wald i+, i+

Giwd pis(1-p)j

wrisi [Gigell A, B i C -1 GLeilel; O A
iz 22 AlE ©. o4 C 4 OA»A OB w23l

agslaL [gouersdl »iaz % €1, ol B Al coun

254 ByellAl #zeuml 21y,

(1)
(2)
(3)
(4)

2
3
4

ROUGH WORK


Kakadiya
Rectangle


Question :86

s Sedll 30 HEE 251 2 10 A E5L S, i
aelbiizdl 16 23 yraell wléa is wsl is wzCss
e w3iE s2el 208 8. sd X = WiE %3y His

ey S| LR X -l s
EsiHl Hval ¢, dl

X A eG4
CIe 2,
1) 342
@
() 43
4 4

ROUGH WORK


Kakadiya
Rectangle


Question :87

4iRls S=1{1,2, ..., 20}. oA S -iL 518 Gu218L B L
25t Hxelvll 203 A ol deit Gwarel B “nice”
sl 2 8. ol 518 wefes {ld s szl
wdd S Al Guotel “nice” &l d-l 2eusHL

=,

8.
5
0 2
6
@ =
4
(3) Py
7
@ =

ROUGH WORK


Kakadiya
Rectangle


Question :88

< b+c c+a a+b
WA 2i5d %l AABC W2 e

e 5. CTA=“:B=CTC.& §3Ysel

(o By) A2 By B,
(1) (3.4.5)

) (19,7,25)

3) (7,19,25)

@) (5,12,13)

ROUGH WORK


Kakadiya
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Question :89

of x B 233l (cot ~ 1x)2 =7 (cot ™ 1x) +10>0
A AN Al 2l A x, 1Ml
gL B.

(1) (cot5, cot4)

2) (cot2, =)

(3) (— =,cotd)u (cot4, cot2)

(4) (—=,cot5)u (cot2, =)

ROUGH WORK


Kakadiya
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Question :90

[Eeus

"ot o vl 2]l A €, dl il el 2w

-]

- =il e 8.

(1) oA 9 vl el 2@ €, dl il
sl =il

(2) st O el <Pl 2Rl A i, ol il
sl 2l

(3) s O 3wl <Pl 2L €1, ol Hv4ril
wzvil 2

(4) oA A vl Pl 23w €, ol Heail
Hvil =

ROUGH WORK
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Answer :

Q-61:|Q-62: | Q-63: | Q-64: | Q-65: | Q-66: | Q-67: | Q-68: | Q-69: | Q-70:
1 4 4 4 4 3 4 3 3

Q-71: | Q-72: | Q-73: | Q-74: | Q-75: | Q-76: | Q-77: | Q-78: | Q-79: | Q-80:
4 1 1 4 1 1 1 2 4 3

Q-81: | Q-82: | Q-83:|Q-84: Q-85 [Q-86: | Q-87:|Q-88:|Q-89:| Q-90:
3 4 1 4 1 3 1 3 2 4

ROUGH WORK



